Assigmment 112
o
So, 000

(Q #o?fom‘ls Fblé}‘“‘ged ] /, 00O = 0

-
Annwn! ?Mm(\rm = S0 % 2.71 :@,385‘0"

, ~ . - ;
(2 ) # O*’\'HPW‘—'MSQJ‘ = ©000° = O

Anwﬁl emivm = o X < L2 :lﬁgzgzo{

Q Fereent G 3« Origiha 3 47

le: This mehhed i< = 1.12
L moch eastes Heen FHa = 4 =220

exampd le Frem The backe. ) [-,;2 (9:/3/

(4, 17.19-1145 _ 574 — |
17,45 7.as =290 7|50.1% |

SETr]
&) (eo)( 277 = #6620 |
@ a) 15,000 gz |

£ Lekatii
b)]dE2 .98 | —
c)(‘?S)(-ZﬂBB :$l83 (O (

o . -




’ CS 06 .
@/ — _ = S ’PmuLS
H oo

((og )( 2-77) ::(

D T.H2 ~ 4.2 o
Q S_ 117 7,275"[2'%5%‘

mp—————— =

- 1 ©0.05 ]

v
4

A.25 &%.25
C/ £ *A ?e-#e.(_
BO, VOO | o .
1,000 O —?il:‘i) = o
(@277 caey( s 21D
"—lﬂazza o | =)$2€'¢.8_Q_M_(

(14) 1,8eoxi2 Lgeoxiz = q. o (LS +(A.wox | 5D X

42725 2‘{(4- 14 H %
XYy

H5.23 - X | =[3.04 s |

e R

1H . w‘




